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Agenda



X _txy)
dy

X,y
f(x,y)



f(Xn +h)_ f(Xn)

\ 4

h

= £'(x,)

f(x,+h)

F(x)=F(x.y)

v



f(x +h)—

)= 106). f,(xn)ﬂ

y' = y(X+h) = y(X)+ hF(XYy)..< VY
y(xo) =a

2y' + 3y = X

y —xy=0




y=y (x+h)=y () +h(x-3y(x)/2
y(0)=1,h=0.1

y'=y (x +h) =y (X) + hxy(x)
y(1) =1, h=0.01




y(x+h)=y () +h((x-3y(x)/2
y(0=1,h=0.1

y (0 +0.1) = y(0) + 0.1 (0 — 3y(0)) / 2
=1+01(0-3x1)/2=0.85

y(0.1+0.1) =y (0.1) + 0.1 (0.1 — 3y(0.1)) / 2
=0.85 + 0.1(0.1 — 3 x 0.85)/2
= 0.7275

y (X + h) =y (x) + hxy(x)
y(1)=1, h=0.01

y(1+0.01)=y(1)+0.01x1xy(1)
=1+001x1x1=1.01

y (1.01 +0.01) =y (1.01) + 0.01 x 1.01 x y(1.01)
=1.01+0.01x1.01x1.01=1.020201
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another view

X,=a, X,=a+nh, n= 121,(

{ X,Y)
y(@) =Y,
y(X) X=X,
Y(X) = Y(Xo) + (X—= %) Y' (%) + (X %)’ Y" (&)
Y(X0) = Yo=Y Y (X0) = (Xq, Vo) 2 X=Xy +h=x
y(xp) Y Y(X)
Y, :Yo + hf (Xo’ yo)

Yo=Y, +hf(X,,Y)) Yo = Yo

{le =Y +hf(x,,y,),n=012,..,N-1

Y=Y, +hf(x,, Y,)



X1

another view

Xn +1

Y(%01) = YO4) = | F(% y(X))dx

Xn

hf(x, y.)



Yoa=do _ f(x,,y,)

y'=f(x, y)

Y(X) = Y06) + (X= %)Y (%) + = (X = %,)° Y (&0)

Xn

V(%02 = YO, = | (X y00)x
hf(x,y)

y'=2Xxy
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f(X,Y)
h K

f(X +—,y +—
(X r%Y. k2)
f(x +—,y +—=
(X >+ 2)
f(x +h,y. +hk,)

g(k1 + 2k, + 2k, + k,)



Scienge of
intefactions



another view

y'(X) = a (X — x)*+b(x — x)+cC

y'(X)

a,b,c




another view

y'(¥) = a (X =x)2+b(x—x)+c  x;, x+h/2, x+h

2 4 h 2
FY(Xi)—FY(XﬁE)JrFY(Xﬁh)

a

3., 4 h, 1,
(bJ= —EY(Xi)JrEy(XiJfE)—EY(Xi+h)
¢ y'(%)

y(x +h) = g(y(xi V(X)) +4y(x + g y(X + g)) +Y(% +h,y(x +h)))



y'-2xy=0
x=0 y(0)=1, h=0.1

K, = f(x,¥)

K, = f(xi+g,yi+gkl)

K, = f(xi+g,yi+gk2)

k, = f(x+hy +hk,)
y(X.,) = %(k1 + 2k, + 2k, + k,)



f(x.y)
04 +5.y,+ k)

h h
f(x +—,y. +—k
( |+2 y|+2 2)
f(x +h,y, +hk;)

= g(k1+2k2 + 2k, +K,)

y'-2xy=0
x=0 y(0)=1

f(x,y)=f(x0,y0)=2x0y0=2x0x1=0...k1

f (x0+h/2, yO+hk1/2) = 2 ( X0 + 0.1/2)(y0 + k1/2)
=2 (0 +0.05)(1 + 0.1/2 x 0)
=0.1... k2

f(x0+ h/2,y +hk2/2) =2 (xO + 0.1/2)(y0 + 0.1/2 x 0.1)
=2x0.05x (1 + 0.005)
=0.1005 ... k3
f(xO + h, yO + hk3) = 2(x0 + 0.1)(y0 + 0.1 x 0.1005)
=2x0.1x(1+0.10005)
=0.2021 ... k4

y1 = (k1 + 2k2 + 2k3 +k4) / 6 = 1.040811
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y(x):
Y(X):




y(x):
Y(X):

S = y(xi+1) _ y(xi) _ F(Xi ’ Y(Xi ))‘

At

Hint,

y(X1) = Y(X) +

ty'(x)+O(( 1?)



y(x):
Y(X):

S = y(xi+1) _ y(xi) _ F(Xi ’ Y(Xi ))‘
At

Hint, y(Xi.) = Y05+ ty'()+O(( 1)°)

Ya) =¥O4) ¢

LY(%)) = Y(%) = F (%, Y(x))+O(At) ~ O(At)
At



(1 )

Y(Xis1) = Y(X) +  ty' (x)+O(( x)?)
Y(Xii) = Y(X) +  ty'(X)

o(( %3 “ lY(Xis1) = Y(X.)| = O(( %)?)
a b m x=(b—-a)m
x?=  x(b —a)/m m X m

x(b—a)mxm= x(b—-a) O( Xx)

O( x4



_ U”+U =0, U0)=0, U(0)=1

————————————————————————————————————————————————————————————————————————————————

u=v ul0)=0
vV =-u v(0)=1

U”+ U=0




U”+ U=0

V=W

(U))

u=v

S V=W
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|

y'=p(X)y' +a(x)y+r(x)
y(0) =a;, y() = a,



y(x + h)

y(X —h

y'(X)

y (X)



y(x+h
)

y(X+
h) =
y(xX)+h
y'(X
) 4 h_
2| y”
] (X
) + O((AX)
%)

y(X—h

y(X
—h) =
y(x)—h
y'(X
)+
2 y’
(X
) + O((AX)
‘)

y'(X)

f(

x+h) — f(
X

—h)

2h

=Y'(X)

y"(X)

f (X
+ h) —
2Y(X) +
f (X
—h)

h2

y"(X)




f(x+h)—2y(x) + f(x-h) V'(X) f(x+h)— f(x—h)

h? 2h =YX

\
{ —p(x)y+q(x)y+r(x)
V(0 =2, y(1) = 2,

;
F(x, +h)—2f(x,)+ f(x, —h) f(x, +h)— f(x, —h)
h? =P 2h

|

+q, y(X;)+r,

h h
_(1_5 pj)yj—1+(2+h2qj)yj _(1_5 pj)yj+1 :_hzrj
B 2 Y i 4



oY, t7Y.
BoYr ta,y, +¥,Ys
B3, +a3Y; +73Ya

ﬁN—lyN—l +aN—lyN—l

a7
B, o, v,

Bs as 7,

Bna Qnla Vnez

Brna Ong

LU

Y1
Y,
Y3

Yn-2
Yn-1
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